DIRECTIONS: The passage below is from Hard Times by Charles
Dickens. Read the passage, then answer the questions.

The square finger, moving here and there, lighted suddenly on Bitzer, perhaps
because he chanced to sit in the same ray of sunlight which, darting in at one of
the bare windows of the intensely white-washed room, irradiated Sissy. For, the
boys and girls sat on the face of the inclined plane in two compact bodies, divided
up the centre by a narrow interval; and Sissy, being at the corner of a row on the
sunny side, came in for the beginning of a sunbeam, of which Bitzer, being at the
corner of a row on the other side, a few rows in advance, caught the end. But,
whereas the girl was so dark-eyed and dark-haired, that she seemed to receive a
deeper and more lustrous colour from the sun, when it shone upon her, the boy
was so light-eyed and light-haired that the self-same rays appeared to draw out of
him what little colour he ever possessed. His cold eyes would hardly have been
eyes, but for the short ends of lashes which, by bringing them into immediate
contrast with something paler than themselves, expressed their form. His short-

cropped hair might have been a mere continuation of the sandy freckles on his
forehead and face. His skin was so unwholesomely deficient in the natural tinge,
that he looked as though, if he were cut, he would bleed white.

1. What kind of connection is being made in this passage?
A. comparison B. analogy C. category

2. What two things are being compared?

3. Describe how Dickens makes the comparison.




ANSWERS
1. A

2. Bitzer and Sissy

3. He describes how a shaft of light falls across the room, and compares the effect
of the light on Sissy to its effect on Bitzer.




